














RUN #L6

[CoHGHgC10), e CEHSHEOR] ) = 6413 X T
[CéHSB(OH)g]O = 5.05 X 1075 meies .

log &
(CeHSHEC10), e CEHEHROR] = Z._27°
[CeHSB(OH) 2] = 3.3971
[{CeHg)2Hg] = Lo3T7T7L

Solvent = "L0%" EtOH
Buffer = [HOAc] 00,0075 moles/1.
[NaOAc] 060075 moles /%«

"pH" = 5e26 u = C’oObf _ T ® ZZT,Em
£ Optical [(CeHe ) oHg 1X205 gy?a-zz
(mine) Density moles/le E=T ez 3 Toex
0 0e31l 0 £.iz Tel
11 00383 00378 E"?E - N Thz
29 Oely77 0.892 Cezi —a ssoilnl
58 06582 1el47 LeSo aI2 12302
ol 0+686 240l Lelt Tall Sa2e80
136 0eTh2 2¢3h 278 2,70 1,3518
163 0786 2059 3eZL Zenz Ce3739

Kopg, = 186 lemol=tsec™s
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RUN #47

[CeHcHECL0) e C4ECHOR ], = 6e13 X 105 moies/ 1,
[C6HZB(OE) 2] = 5405 X 10> moles/1,
log &
(CeEE gplou.06HSHgOHJ = 3.L675
{CeIgB(0Z) 2] = 3.3813
L(CeHzigdgl = Le377h
Solvent = "LJZ" EtOH
Buffser = (ZCAc| 0025 moles/le
- 1%aCAc] 0.0025 moles/1
"pH" = £.26 u = 0.0L S = 227 .5mu
£ Optical L(Céﬁg)QHgIXIOS ic%a-x
{(min.) Densicy es/1. SeX Tax e (o=x)

0 Ce301 o el Sel’ .

8 Cel32 58702 Sel e " TellZZ
17 Ce=23 1,18 lLeG= 2eZ” Se0227
26 CeEC2 1587 Le55 ez se0222
39 Ceb70 L9 LielS 2ell 240LE3R
cg Ce7lS 2442 2671 Ze52 200652
70 CeT3L 2+66 3el7 2438 240778
g1 0.560 3.01 Rel2 el J0102

115 CeSlc 3030 282 PP 2W128

Zobg, = 4436 lemol=lsec-1
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log &

(CeHgHZC10), *CHgHgOR] = 343856

RUN #49

[06H5Hg010u006H§EgOH]O =
[C4HEB(OH) 5l = 54480 X 10=5 moles/1.

[CeHgB(OH) 2] =

[(CeHg)oHg] = Lo377h

Solvent = " 0%" EtOH

Buffer = [H3PO) ] 0.001 moles/le

(NaH2POY ] 000k moles/le

6255 X 105 moles/1.

"pH" = 3,60 u = 0,04 >\ = 227 ¢5mu
t optical  [(CgHg) Hg]X105 %O a=x
(mine) Density fe% /1 a-x bex B iﬁ:§%

0 0282 0 6e26 5.8 0

10 0« 355 0377 5.38 5010 0400495
28 061139 04817 Saly  Leb6 0400932
L5 0.521 1.2l 5.02  Le2li  0,0159
67 04583 1457 Lo69 3.91  0.0215
97 04656 1495 lye31 3¢53 00293
12l 04723 2430 5496 3¢18  0.0378
150 05770 2455 3671 2.93  0.0451
185 0.80L 273 353 o75 040510 |

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.
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RUN #51
[C6HEHgC10) *C6HSHgOH], = 60255 X 10~5 moles/1o
[06H55(0H)2]§ = 5,480 X 10~5 moles/1.
log &
[C4HEHECL0), e CoHGHOH] = 3aly1h6
[CeHB(OH) 2] = 343883
L(CoHg ) pHEl = Le377h
Solvent = "LO%" EtOH
Buffer = [H4qPO)] 00005 moles/1.

(NaHpPO), ] 0.002 moles/1e

"pH" = 3,60 u = 0.0l ;X\‘ 227 eEmu
log
miny  Shim leenpggelmos o rlem
0 00296 0 6.26 58 0
9 0ely32 0723 5.53  Le76  0.00810
18 0,187 1.02 5.2l Lelib  0.0126
29 06571 Lolib LeBO  Le02  0.0196
L2 0.6kl 1.65 Lelil 3463  0.0271
53 04712 2.21 1405 3427  0.0355
7 04779 2.56 3.70 2492 0,0LEL
85 0830 2.8L 312 2464 0.0550
103 0.868 3.0 3022 244k -040630
128 0.0803

04934 3439 2.87 2.09

Kobse = 3el3 lemol=lsgee~l

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.
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RUN #52

[CoHgHEC10), «CoHEHgOH] o = 64255 X 10=5 moles/1l.
[CéHBB(OH)Z]O = 5,480 X 10-5 moles/l.
log €
[CeHZHEC10) e CpHgHgOH] = 3.4,278
[CeHEB(OH) 2] = 33818
L(CeHg) gHgl = L3774
Solvent = "LO%" EtOH
Buffer = (H3PO)] 0.005 moles/l.
[NaH2PO| ] 0400k moles/1.

WoH' = 3.93 4= 0.0l A = 227 .5mu
) N lo
(mjgn.) gggi?ﬁ; “Céﬁ §g]mo5 a=x D=x % %?%;'
0 06299 0 6+26 S.48 0
7 0396 0512 57l 11«97 0.0055
16 0.1453 0816 Selyy LLeb6 00093
27 0s513 1.1l 5.12 lre3ly 0,013
Lo 0.602 1.61 465 3,87 0.0223
53 06667 1.96 4«30 3e52 0.0295
69 0718 223 1403 3425 040360
83 0e768 2450 3,76 2498 00035
126 0874 3406 3420 24112 0639
Kobgse = 2468 1lemol=lsec=l

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #53

[CoHGHECLO) *C6HSHgOH], = 64255 X 10=5 moles/1.
[CeHEB(OH) 215 = 54480 X 1075 moles/1.

~—

log £
(CoHSHECLO0), *CoESHgOH] = 343955
[C6EgB(OH) 2] = 343458
[(CoHg) pHg] = Le3770

Solvent = "LOZ" EtOH
Buffer = [H4PO}] 040015 moles/le
(NaH2PO)] 040090 molss/1e

MOHM = 3,76 u = 0.0L N\ = 227 «5mu
t Optical (CGH%)EHgEXlO/ %oga—x)
(mine) Density os/1e a=x bex a (bex
0 0277 0 be26 Seli8 0
56 Oel6l 0956 5430 bhe52 00112
71 050 1.18 5.08 L4+ 30 00149
92 0e540 1.37 189 LLell 0.0180
117 0607 1472 lLeSl 3676 002
147 06659 1499 lLe27 3.9 0.0362
180 0.702 2.21 Le05 327 0.0355

Kopge = 1601 lemol=lgec=d

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #5l

[CoHGHEC10) *CoHGHEOH] ) = 64255 X 105 moles/l.

[CeHgB(OH) 2], = 5.480 X 10=5 moles/1.

log &

(CLHgHgC10), «CeHgHgOH] = 3.3828
(CeHEB(OH) o] = 3.3458
[ (CeHE) pHg) = Le377L

Solvent = "L 0%4" EtOH

Buffer = [H3PO),] 0.00125 moles/1.

[(NaH2PO) ] 0.0075 moles/1e

MOHT = 3,76 u = 0.0L ;*\= 227 «5mu
t Optical  [(CgHg)oHglX105 %ozgzﬁ}
_ (mine) Density mdles 8=X bex a (b-x
0 0.272 0 626 S48 0
23 04391 0661l Sabll 187 0,0067
39 Oel51 Ce926 5.33 11«55 0.0108
53 04ls78 1407 5619  l.4l  0.0133
68 04557 1.48 Lo78  Le0O  0.0199
90 0.592 1.66 I+ 60 3682 0.0232
11l 0.612 1.76 Lt « 50 3672 0.0252
1y 04679 2,11 l}e15 337 040330
178 0.707 2,26 11200 3.22 0.6368

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.
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RUN #61

[C4HZHEC10) +C6HEHEOH]o = 590 X 10-5 moles/1.

[CeEGB(OH) plo = 3458 X 105 moles/1.

log &
[CeHEHECL0), *CoHgHgOH] = 364013
(CeHSB(OH) 2] = 302943
[(CeHg) 2Hg) = Le3TT7h
Solvent = "LOZ" EtOH
Buffer = No Buffer
u = 00l N = 227.5mu
t Optical (06H§)2Hg]x105 %O%a-x
{min.) Density a=x bex = E?f%'
C 06219 0 590 358 o]
10 2.528 1.50 Le30 1.98 56120
1¢ 0460 2.18 3.72 1.0 4209
2g . 0e723 2061 329 CeG7 Ce3lit
L1 04791 2.96 2.94  0.62 04159
53 04820 3.11 279 Cols JeEET
biL 084l 3.23 267 O35 Ds0666
76 0870 3¢37 253 0.21 04364
88 0880 3.2 2.48 0elb 1.07

Kobge = 18elr 1lemol=lgec-1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #62

[C4H5HECL0),+CoHSHOH], = 5490 X 10-5 moles/1o
[C4HEB(OH) 2]y = 3458 X 107> moles/1.

log &
[06H5Hg01ou-0635ﬂg0H1 = 3.4185
[CeHgB(OH) 2] = 343438
L(CoHS) 2Hg) = Lo377L

Solvent = "LO%" EtOH

Buffer = No Buffer

u = C.lé N = 227,5m
(mzn.) gﬁ;z;i; (Céﬁg g g]X1OS aex bex %oggzi
Q 06223 0 5e90 3458 0

8 0809 1.5 lieli5 2613 0103
17 06626 2407 3683 151 0.188
27 0.708 2450 3eL0 1.08 0,281
e 0791 293 2+97 0eb5 Oelly3
51 0820 3.09 2,81 0eL9 OeEh2
62 0e8LL 3e22 2,68 O0e26 0e655
Th 06870 335 2058 0e23 0eT720
86 0880 3440 2.50 018 00926

Kobse = 17¢9 lemol=lsec~1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #6L

{CéHgHgClOuoceHgHgOH]O 5490 X 10=5 moles/1.
[CoHSB(OH) 215= 7.16 X 107> moles/1.

[CeHgHgC10) e CeHSHEOR] = 3,1282
[CoHGB(OH) 2] = 28971
[(CeHEs) Hgl = L3774

Solvent = ",0%" EtOH
Buffer = [NaHCO3] 0e03 moles/1.
[NapC03] 0603 moles/1.

"OH" = 1053 u = 0.15 N\ = 227 e5mu
iy Qe lesmpmgmos o p
0 0,215 0 7416  5.90 0
6 0290 0,373 6.79  5.52  0.0052
2l Oalil7 1.1l 6.02  Le76  0,0176
149 0e631 2.05 5.11 3085  0,0385
76 00762 2469 LeL7 3421  0.0594
106 087 3e24 3492 2466 0.0840
128 0.918 3eli5 3.71 245 040958
145 0,960 . 3wb6 350 2.2 04109

Kobs, = 2036 lemol=lsec~t

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #65

[C6H5Hg010h006H5HgOH]° = 5490 X 1077 molzsa/ L.
[CEHEB(OH) 2]y = T+16 X 1075 moles/1,

log €
[CeHZHgCL10), « CoHSHEOH] = . l11.
(CoHgB(OH) 2] = 248353
[(CeHg) oHgl = Le37Th
Solvent = "0%" EtOH
Buffer = [NaHCO3] 001 moles/I.
[NapC04] 0403 moles/2.

"pH" = 10.96 u = 0015 S = 227.5mu
— - e —
t Optical  [(CgHg)o HglX105 %O%a-x)
(mine) Density §es /1. a-x e a (b-x
0 0201 o Talé Z.32 )
11 Ge262 0296 & o824 -t 2.004L0
Ll Ol 3l 1.13 6403 L7 04017k
81 06556 1.72 Sy 2413 0.0300
158 0737 2460 LeS6 2.3 240560
209 OeBLly 3.12 LeOL 2.73 0779
249 00902 el 3475 ZeL5 2093l
299 04959 3468 3448 2,22 0.111

kKobge = 1013 lemol=lgec-1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #66

[CeHEHEC10), o CeHEHEOH]o = 5490 X 10=5 moles/1l.
[CoHEB(OH) 2lo = 7416 X 10=5 moles/1.

log &
[CéHSHgClOu°GéH5HgOH] = 343939
[CoHSB(OH) 21 = 248125
[(CeHg)2Hgl = Le377h

Solvent = "L 0%" EtOH
Buffer = [NaHCO3] 0e0l moles/l.
[NapCO3] 04045 moles/1.

"GH" = 11,15 u = 0015 >\ = 227.5mu

e ———— — ——
PP ———ra—
e ———— ittt et P paiont ———— —

1o
ey SE Wegpgemos ol
0 06193 0 7.16 5.90 0
h2 0337 0.696 616 5.20  0.0102
78 0457 1.27 5489 lle€3 0.6201
155 04591 1.92 5e2l; 398  0.0350
206 0+091 2.140 te76 3,50 00451
247 0. 7L} 2465 L,51 3.25 040579
296 0.788 2486 4o 30 3404 040662
348 0.86l 3623 3493 2.67 00834

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.
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RUN #TOA

[ C6H5HgC10}, * C6HSHgOH] o = 34667 X 107> moles/1,
[CeHgB(OH)2lo = 5,205 X 1075 moles/1,

log &
[ CoHgHRCL1O) » C6H5HgOH] = 3.40183
[CeHgB(0H) 21 = 3.36994
[ (C¢H5)2Hg) = L3774

Solvent = "50%" EtOH

t Optical éo%a-x)
(min,) Density X a-x bex ] (o-x

0 0621l 0 5.21 3.67 0

9 0,360 1,09 L.11 2.58 3.0501
18 0,463 1.63 3.57 2.0l 1, 0522
28 0¢537 2,02 3.18 1.65 0.132
36 0.572 2,20 3.00 1.47 0.158
46 0,610 2.40 2480 1.27 0.191
58 0,660 2.67 2.53 1,00 0.231
73 0.703 2.89 2.31 0.78 0.319
85 0.727 3402 2,18  0.65 0,373

Koba, = Te72 l.mol=igec=l

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #70B

[ CHgHEC10) + CgHEgHEOH] o = 34567 X 1075 moles/1.
[ C4HgB(OH) 2] o= 5.205 X 10-5 moles/1.

I

log
[ CgHgHEC10), « CoHgHgOH) = 3,40183
[CeHgB(OH) ] = 3.3699L
[(CeHe)pHE] = La377h

Solvent = "50%" EtOH

Fn= 227.5ma

1o
win . bl
0 0.21L 0 5.21 3467 0
6 0.305 0.796 Ll 20,37 040342
25 06520 1.93 3427 1.7k 0.122
35 04575 2.22 2498 1.45 0,161
43 0,510 2.40 2.80 1.27 0,191
56 0,562 24548 2.52 0.9¢ 0¢25L
71 0,694 2,85 2435 0,82 0.305
82 06737 307 2e13 0.60 0.398

Kobg, = 8.22 l.mol~lsec~l

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #71B

[ GgHgHgCLO), « ColigHEOH] 5 = 1.83L X 107> moles/1.

[ p-CH3CeH,B(0H)plo = 2.305 X 107> moles/1.

log <.

[ C¢HgHgC10) + CgHgHgOH] = 2.45688

[R-CHBCéHuB(OH)Z] = 3,486l
[p=CHyCgH) HgCeHel = Ll29551

Solvent = "50%" EtOH
A= 236mu '
lo
wio SR 0 e 2B
0 0,075 0 2,31 1.83 0
3 04100 0154 2,15 1.68 0.0079
9 0.1l OeLi06 1.89 142 0.0249
15 0,172 0.568 1,70 1.23 0.0413
22 0.206 0.808 1.49 1,02 0.0653
30 0.223 0,512 1.39 0.92 0.0800
41 04256 1.12 1,18 0.71 0.121
Sy 0,28l 1.29 1.01 054 0.173
66 04200 1.37 0.93 0.46 0.216

= 25,5 lomol=lgec~1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #72B

[ C¢HHgOHs C4HgHEC10 1o = 1.83L X 1075 moles/1.

[p~CH30CgH,B(OH) 2l = 1,895 X 1075 moles/1,

log ¢

[CéHSHgOH~06H5Hg01Ou] = 2,1461

[p=CH30CgH)B(0H)p] = 3.62002
[ p~CH30CgH) HgCLHE] = Le129L

Solvent = "50%" EtOH

A = 2L6mu

lo
t Optical b ;aux;
(min.) Density X a=X Dex a (b-x

0 0.081 0 1,89 183 0
L 0,147 0,708 1,19 1,13 0,0087
7 1/2 0,168 0+937 0.958 0,897 0,014y
11 1/2 0.197 1.25 0.645 0,584 0.0289
16 0,200 1.29 0,605 0,54l 0.0320
21 1/2 0.213 1.43 O.465  0.404 0.,0U469
29 0,222 1.53 0.365 0,304 0,0652

39 1/2 04238 1.70 0,195 0.131 0.159
Kobs, = 1159 lemol=lsec~1

Repro.dlljcé‘d with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #T4

[ C¢HgHEC10}, * CeHgHEORl o = 7.33L X 105 moles/1,

[m-NOoCeH,B(OH) ] o = 5.625 X 107 moles/1.

Log £
[ C¢HgHgC10) » CoHgHEOH] = 3,37918
~ [m=NOpCeH,B(0H)p] = 3,6521
[m-NOpCgH) HgCeHgl = L.2730
Solvent = "50%" EtOH
A = 228mu.
lo -
t Optical b (a=x
(min,) Density X a=-x b=x a iﬁri%
0 0.428 0 Te33 5.53 0
32 0479 0.430 6.90 5.20 0,0083
79 0.532 04876 6045 L.75 0,0183
150 0,577 1,26 6,07 .37 0,0281
249 0.559 1.95 5.38 368 0.0503
363 0.710 ‘ 2,38 L35 3+25 0.0681
6U5 0.822 3632 4.01 2.31 0.125
770 0.872 367k 3459 1.89 0,164
915 0.932 Le25 3.08 1.38 0.234

kobs, = 04429 l.mol"lgec™?

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #75A

[ CgHgHEC10), +CoHgHEOH] o = 3.667 X 107> moles/1.
[p=FCgHYB(0H)2lo = L4942 X 10=5 moles/1.

log &
[ C¢HgHgC1O0), « CeHpHgOH] = 343960
[p=-FCgHLB(OH)2] = 3.2651
[ p=FCeHHECEHE) = 443390

Solvent = "S50%" BtOH

A= 228m

t Optical %oga—x)

(min, ) Density X a=Xx b=x a (b=x
0,175 0 Lo9L 3.67 0

i 0.26l 0509 Loly3 3.16 00177

10 0.341 0e949 399 2,72 0.0375

19 0+409 1.34 3450 2633 040594

28 0.463 1.65 3629 2402 0.,0823

Lo 04530 2.03 2,91 l.64L 0,119

52 04567 242l 2470 1.43 0.146

63 0,611 2.49 2,45 1,18 0,188

86 04653 2473 2.21 0.%4 0e.242

Tk = 8,20 1l.mol"lsec=1

obs,

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN

s

TTA

[CeHgHEOH] o = 3.L27 X 1075 moles/1.

[C¢H5B(0H) 1o = L.850 X 1075 moles/1.

»

log &
[CeHgHEOE] = 3,558
[CeHEB(OE)2] = 3.2556
[CeHgHgCLHe] = L3774
Solvent = "SOZ" EtlH
A= 227 .5mu
: 1o
(mig.) 82322:; X a=-x b-x E %a:i)
0 0.2L6 0 L85 3.3 0
9 0437 1.09 3.76 2e3L 0,0551
21 0,498 1443 3.L2 2.C0 0,0822
31 0.563 1.80 3.C5 1,63 0,121
L3 0.591 1.96 2.89 147 0.143
60 0.6Lh2 2.25 2460 1.18 0.193
78 0.667 2.29 24146 1.04 0.223
108 0.720 2.€9 2.16 0o 7k 0.31h
143 0,750 2,66 1.99 0.57 0,392
207 0.783 3.C5 1.80 0.38 0.525

Kobg., = 8430 l.mol=lgec=1

Repfbduced With p.ermission of the copyright owner. Further reproduction prohibited without permission.



RUN #77B

[CeHGHEOH] o = 3.1:27 X 107> moles/1,
[CeHEB(OH) 2l = LeB50 X 1075 moles/1.

log &
[ C¢HgHgOH] = 3.5986
[CuHEB(CH)p] = 3.355¢€
[CéﬁngC6H5] = U4 2774
Solvent = "50%" EtCH
A= 227 45m
log
(mig.) 8222:‘:% X a=x b=x ’S[ %ﬁ%
0 0236 0 T 3.43 0
6 0,357 0.£30 1,22 2,80 00273
28 0,530 1.61 3.24 1.82 0.C957
Lo 0.588 1.94 2.51 1,49 0,140
57 0.63l 2.20 2.65 1.23 0.183
75 0.671 2.1 2.k 1,02 0,228
105 0.722 2.70 2.15 0.73 0.218
14,0 0.758 2.51 1.94 0.52 0.421
20l 0.791 3.10 1.75 0.23 0.57k
Kobs, = 8410 l.mol=lsec-1

Réproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #768B

[CéﬁgHgOHlo = 3,393 X 10"5 moles/1l.

(m=-FCeHLB(0H)2]lo = L.LBL X 10~5 moles/1.

log &
[ CoHgHEOH] = 358669
[m-FCeH,B(OH)p] = 342746
[ m-FCH, HeCpHgl = L3278
Solvent = "50%" EtOH
2= 226mu
t Optical goga—x)
(min,) Density X a-x b-x a (b=-x
0 0.213 0 I 3439 0
9 0.26l 0.327 419 3,07 0.0112
22 0.312 0.634 3.88 2476 0.02L1
43 0.351 0.884L 3.63 2.51 0.0365
57 0.389 1.13 3039 2.26 0.0519
9l 0.450 1.52 3.00 1.87 0,0811
12l 0.472 1465 2.86  1.73 0,092
173 04533 2,05 2.47 le3h 0.141
203 0,560 2.23 2,29 1.16 0.171

¥obg, = 2,63 1l.mol=tsec=1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #79A

[C¢HgHEOH], = 3.393 X 105 moles/1.

[ p-C1CeHLB(0H)2lo = 3.846 X 105 moles/1,

log 2

[ C6HgHgOH]
[p-C1CeH)B(0H)2] = 3,5596
[p-C1CeH)HeCeHs] = L.2525

1

Solvent = "50%" EtOH

2,469

A = 238mu
log

(mig.) gggiii; X a=x b-x % %%Ei%

0 0.149 0 3.85 3439 0

L5 0,252 0.730 3.12 2,66 0,0138

69- 00293 1.02 2483 2037 0.0226
105 04333 l.31 2454 2,08 0.0323
125 0.361 1,51 2634 1.88 0,006
15 0.390 1.72 2.12 1.67 0.0492
195 0.411 1.87 1,98 l.52 0,0604
239 0.lily7 2.12 1.73 1.27 0.,0798

obs,

= 2,87 l.mol=lgec=1

Reproduced with permission of the copyright owner. Further reproduction prohibited without permission.



RUN #79B

[ CeHgHgOH], = 3.393 X 107> moles/1.

[p-C1CeH,B(0H)2lo = 34846 X 1075 moles/1,

log &
[CéHSHgOH] = 2,469
[p~C1CgH,B(OH) ] = 345596
[p~C1CeHLHgCEHE] = L+2525
Solvent = "50%" EtOH
A = 238mu
log
(mig.) ggﬁ:i:; X a=x b-x E %%Eﬁ%
0 0.149 0 3485 3439 0
L3 0.266 0,830 3.02 2.56 0,0162
| 67 04296 1.05 2.80 2,3L 0,0235
101 0,343 1.39 2446 2,00 0.9355
122 0.369 1.57 2,28 1.82 0.043L
151 0,400 1.79 2,06 1.60 0,0553
192 0.432 2,02 1,83 1,37 0.0713

Kopg, = 3e13 lemol~lsec=1
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[ C¢HgHgOCOCH3] 5 = 3,018 X 10™> moles/1.

RUN #81

[ CeHgB(OH)plo = 4978 X 107> moles/1.

[CH3COOH] = 1.3k X 10-4 moles/1,

log &

[ CeHgHEOCOCH3] = 3.4912

[CgHgB(OH)p] = 3.3116
[ CeHsHgCpHgl = L3770

Solvent = "50%" BtOH

N= 227.5mu
log
£ Optical b (a-x
(min. ) Density X a=X bex a (b=x
0 0,193 0 L .98 3,02 0
8 0.24L8 0,278 Le70 2eTh 0.,0170
18 0287 0.487 Lel49 2053 0.,0217
39 0e343 0,786 4el9 2.23 0.056l
56 0:37h 0.952 4,03 2.07 040724
77 OolLlly 1.17 3.81 1,85 0.0964
97 0.4L3 1.32 366 1.70 0,216
Kopg, = 2420 l.mol-lsec=l
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RUN #6&2

[ C¢HEHgOCOCH], = 3.018 X 105 moles/ls
[CeHsB(OH) ], = 4578 X 1077 moles/1,
[ CE3000H) = 27.51 X 1074 moles/1,
log &
[ CoHgHEOCOCH3) = 3,L4912
[ GgHEB(OH)p] = 3,21

[CoHpHEOEHS) = La3770

Solvent = "S0%" EtCH

\,
/\ = 227@ Smu

lo
t Optical b %a—x)
(min, ) Density X 6=X DX a (b=x)
0 06163 0 lieGE 3,02 0
28 0,261 0.2LE Le€3 2.67 0.0217
Sn 0.320 0.663 he32 2,36 00,0457
37 0.381 0.689 3.59 2.03 0,0762
11k 0.12 1.16 3,62 1.86 0.0952
150 Oelly1 1.31 3667 1.71 0.11l
190 0.L60 1.4l 3.57 1.61 0.128
228 0,483 154 3ol l.48 0149
267 0.L.98 1.62 .26 1,L0 0,163

K ps, = 1eliS lemol=lsec-1
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RUN #8L

[p-CH3CoH HEOCCCHE3] o = 2499 X 107> moles/l.
[CeHEB(OH) 2l = k498 X 107> moles/1.
[CH;CO0H] = 2,39 X 107% moles/1.

e

log 2

[CeHcB(0H) ) = 1,308

Qo

[p-CH30pH HeCeBe]l = L2915

Solvent = "50%Z" EtCH

A\ = 236mu
log

t Optical b (a=x)
{min., ) Density X a=X b=x 8 (b=x)

11 0.235 2,213 Lel7 2.18 040605

26 0307 1.27 3673 174 04110

6)4. Oe}-‘-OO lcEL 3016 lol? 0.210

91 0.456 2.18 2.82 0.83 04310
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RUN #85

(p=CH,CqH) HgOCOCH1 5 = 340k X 10~5 moles/1.

[ CeHgB(OH) 2l = 5,060 X 1075 moles/1.

[ CH3C00H] = 8,34 X 10~k moles/1.

log &

[p-CH3CgH)HgOCOCH3] = 3,5501
[CeHEgB(OH) 2] = 19080

[p=CH4CeH) HgCeHgl = La2915

Solvent = "S50%" EtOH

N\

A= 236mu
log

t Qptical b (a=x
(min.) Density X a=x b-x a (b=x

0 0.113 0 506 3.0k 0

13 0,184 O.Li56 060 2059 0.0295

32 0.249 0,874 4419 2617 o.ceué

58 0,316 1.31 375 1.73 0.115

91 04375 1,68 3038 1.36 0,175
122 0,13 1.93 3,13 1.11 04230
150 Oolylly 2,13 2,93 0.91 0.287
188 0.4458 2.22 2,8l 0,82 0,319

Kobg, = 3656 1l.mol=lsec-1
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RUN #86

[ p-CHyCgH) HEOCOCH3] o = 2,99 X 105 moles/1,
[CoHSB(OH)2lo = 4e98 X 10=5 moles/1.
[CH3C00H] = 9.56 X 10~4 moles/1.

log &
[E—CHBCéHquOCOCH3] = 3,5501
[ CeHgB(OH) 2] = 1.9080
(p-CH3C¢H) HaCeHgl = L.2915

Solvent = "50%4" EtOH

N = 236mu

t Optical %oga-x
(min. ) Density X a=x b-x a (b-x

0 0,106 0 l1498 2499 0

9 0,196 04575 Le35 2,141 0.0389

2l 0.242 0.856 1107 2.13 0.0637

61 0.334 lol2 3.51 1.57 0.132

89 0.398 1,81 3,12 1.18 0,205
132 0.h22 1.96 2497 1.03 0.243
168 Ouhlihy 2,09 2.8l 0490 0,282

kobs. = 3.34 l.mol=lsec=1 -
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RUN #88

[ p-CH3CgHy HEOCOCH3l o = 2499 X 1075 moles/1.

[CHEB(OH) 2] = 498 x 107> moles/1,

[CH3CO0H] = 23.90 X 1074 moles/1,

log &

[ p=-CH3CgH| HgOCOCH3] = 3,5501
[CeHgB(OH) ] = 1.9080

[p-CH30gH, HgCeHE]l = 4,2915

Solvent = "50%" EtOH

N = 236mu
lo
t Optical b %a-x)
(min. ) Density X a=-x be=x a (b=x)
0 0.106 0 496 2.99 0
Q 0,164 Ool1ly L4.57 2.58 0,0267
L3 0.232 0.841 o1l 2.15 0.0630
76 0.28L 1,17 3,81 1.82 0.0993
115 0.328 1.4k 3.54 1,55 0,137
150 0,369 1.70 3.28 1.29 0.184
169 0.387 1.81 3.17 1.18 0,208
k = 2,20 lemol=lgegc—1

obs.
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RUN #89

[ p-CH3CeH), HEOCOCH3] 5 = 3.0LL X 1075 moles/1,
[C6HEB(OH)2]lo = 5.060 X 10~5 moles/1.
[CH3C00H] = 25.02 X 10~ moles/1.

log &
[ p-CH3CEHY HEOCOCH3] = 3.5501
[ CoHgB(O0H) 2] = 1.5080

[p-CH3CeH,HECoH] = L2915

Solvent = "50%4" EtOH
A= 236mmu

e e e e e =

i
|

lo

wiy e il

0 0,113 0 5406 340l o

32 0,178 0.418 Lebly 2¢€3 0.0267

57 0,230 0.752 lis31 2229 0.C53L

93 06291 1ol 3452 1.90 0,0938
135 0336 1.43 3063 1,61 0.132
172 04360 1.59 347 1.L5 0,158
196 0.384 1e7h 3632 1.30 0,186

Kobs, = le8l lemol=lsec=l
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[ p-CH3CqHy HEOH] 5 = 8,910 X 107> moles/1.
[m-NOpCeH,B(OH) pl, = 34563 X 105 moles/1.

log o

[p-CH3CH) HgOH] = 3.4871
[E-NC2C6HLLB(OH)2] = 303877
[p-CH3CoH HgCeHm-K0p] = 1142209

RUN #91A

Solvent = "50%" EtOH

A= 236mu
o 1o

t Optical b (a-x
(min, ) Density X a=X bex Y ;E—x%

0 06361 0 8.91 3.56 0

20 0388 0.243 8,67 3e32 00187

37 OelOl 0,387 8.52 3.18 00307

89 0el4l40 0,710 8.20 2.85 0,060L
177 0.471 0.989 Ta92 257 040901
337 0,528 1,50 Telil 2,06 0,158
590 0,622 2635 656 1,21 0,336
703 0.641 252 6+39 1.04 0.390

kobs. = 0.306 l.mol-lgec~1
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RUN #91B

[ p-CH3CgH, 5g0H] o = 8,910 X 1075 moles/1.
[m-N0pCe B(0K) ], = 32363 X 1075 moles/ls

log &

~
H

{;m_—NOZCBHhB(OH)g]

LR—CH3CéHquOH] = 39A871
= 3e3877
{ 3-—6’53 CéE{LEgCé,Hu_n_x-'\Ioz] = [1,2209

Solvent = "50%" EtOH
Jo= 236mu
log
t Optical b (a=-x)
(min,) Density X a=xX bex a -X
0 06361 0 84391 3.56 0
18 0,408 0,23 8.9 3,14 000338
3l 0el17 0,504 8.4 3.06 040410
8L 0457 0.863 8,05 2,70 0,0762
17k Celg79 1,06 7635 2450 00989
335 0.538 1,59 ’_7.32 1.97 0.172
589 0,619 2432 6.59 1.2 0e333
700 0,658 2,57 6.2y 0,89 0.Lli8
Kobs, = 0s378 1,mol"lsec=-1
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RUN #92

{p-~CH3C4 ) HEOCOCH3] 5 = 340Ul X 1075 moles/1.

(p-CH3CeHB(OH)2)lo = 2,148 X 10-5 moles/l.

[ CHCO00H] = 2,78 X 10~4 moles/1,

log =

[ p~CH3CgH) HgOCOCH3] = 3.4610

[B-CH3C6H‘}+B(OH)21 = 33,5162
[P_'CHBCéHMHgCE)HMB"CHSJ = || .3953

Solvent = "50%" EtOH

= 236mu
- A —
t Optical %Oga-x
(min,) Density X a-x b~x a (b=x
0 0.159 ’ 0 3,04 2,15 0
L 0e243 Ocl12 2,63 l.74 060293
8 0,287 0,648 2,40 1450 06,0520
13 0,325 0,851 219 1.30 0.,0767
18 0.369 1.09 1.95 1,06 06113
2l 06392 1,21 1.83 0.9 0,138
30 Cely23 1,38 166 077 0,182
37 O3 1.48 1.56 0667 0,216
L6 0472 1.64 1,40 0e51 0,287
g6 041187 1.72 1.32 O3 0.336
Kobg, = 259 lemol=tsec=1
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RUN #94

IZ15.7,30C0CH3] o = 34044 X 10=5 moles/1.

T-TTI0E300E)2)o = 2,148 X 10=5 moles/1.
ITIICE = 19,46 X 1074 moles/1.
2--=20:%,Hg0C0CH3] = 3. 4610
2= 233.5,B(0H) 2]l = 3,5162
- 23054, HgCeH)p~-CH3] = 143953
Tilvazt o= 304" BtOH
lo
oz Iretial Q%a-x
=i, BRI Sl o X a-x b=x a -X
N R 0 3.0l 2,15 0
. Zis Dol 2,61 1.71 «0312
ZZ SRR 0.626 2442 152 0.0U96
K Do NEZ 0,878 2617 1:27 0,080
- P 2.985 2606 1,16 0,0967
C- :!:‘C: 1018 1086 0097 0 131
:’: - ;_.._T.": loi-i.o 1.6)4. 0075 0188
1Ll S 1.49 1.55 0.66 0.219
2355, T 9497 lemol=lsec=1
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RUN #96

[1m~NO,CgH) HgOH] , = 3,008 X 107> moles/1.
[p=CH3CeHLB(OH)2lo = 2,148 X 10=5 moles/1,

log €
[m-NO2CoH), HgOH] = 3.4055
[p~CH3CeH,B(0H)2] = 3.4162
{m-NOpCgH) HeCgH) p=CH3] = L2209

Solvent = "50%4" EtOH

/\\ = 236[}111

Log g

t Optical b (8=~=x

(min,) Density X a=x b=x a (b=x

0 0147 0 3.01 2,15 0

8 0.172 06356 2.65 1.79 060240

17 0.21l; 00729 2,28 142 0.0495
29 06256 1.10 1,91 1,05 0el11l
39 0,271 l.2l 1.77 0491 O0.143
49 0,278 . 130 1.71 0.85 0,157

kobs, = 20,1 l.mol"lsec"l
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[m=NO,CgH), HEOH] o = 5,975 X 107> moles/1.

RUN #97

[CeHsB(OH)plo = 5,405 X 107> moles/1.

~

log ¢
(m=NOpCgH), HgOH] = 3.5956
[CeHB(OH) ) = 302357
(m-NOpCeH, HECeHy] = 42730
Solvent = "50%" EtOH
M= 228mu
t Optical %Oga-x)
(min.) Density X a=x bex 2 (b-x
0 0329 0 5.98 Sell 0
10 0.511 1.41 457 3499 0015l
21 0.602 211 3.07 329 0,C270
32 0.697 268l 3.14 2,56 0.0LE2
us 00Thly 3620 2,78 2020 0,0581
58 0,783 3650 2.48 1.90 0.0722
i 0.814 3aTh 2e2l 1.66 0.0866
97 0.836 3091 2,07 1e49 00992

Kobg, = B89 lumol=lsec=1
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RUN #98

[m-NOpCqH) HgOCOCH3l o = 24758 X 1075 moles/1,
[CeHsB(OH) 2], = 5.405 X 107> moles/1.
[ CH3CO0H] = 2,840 X 10=4 moles/1,

log &
(m-NOpCeH) HgOCOCH3] = 3.667
[CoHSB(OH)2] = 3,2606

[E-chcé%ﬁg06H5] = 11,2730

Solvent = "50%" Et0dH

A= 226m
log

t Opticsal b (a=x)
(min.) Density X a=X bex 2 (b=x

0 0e226 Q 5.40 2476 o

10 06315 O.72L lLe70 2.08 0,074

21 0.366 1.1h Le26 1.62 0,128

33 0.399 1ol 3.99 1,35 0,178

72 0e4497 2,21 3.19 0.55 OeliT1

98 0.524 2.43 2,97 0,33 0.662

Kobg, = 823 l.mol=lsec-l
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RUN #100

(m=NO2CeH, HgOH] o = 5s975 X 107> moles/l.
[m-FC4HB(0H)2]le = 13,20 X 107> moles/1.

log &
[m-N0,CgH) HEOH] = 3.5956
(m-FCeHB(OH)2] = 2.9377

[m-NOpCeH) HeCoHym=-F] = L2531

Solvent = "50%" Et0H

N= 228m
log
t Optical - b (a=x)
{(min.) - Density X a-x b=x a8 (b=X)
0 0350 0 13,20 5.98 0
= 0,436 0.66L, 12,54 5031 0.,0262
18 0,489 1,07 12,13 .91 0,0458
31 0«58L 1.79 1l.41 4o19 0,0882
L3 0,533 2.17 11,03 3.81 0,115
55 0671 2.46 10.7h 352 0.138
7h 0.750 3.06 10,1k 2.92 0.194
ol 0.792 3,38 9,82 2,60 0230
Kobs, = 1,48 1,mo1"1lsec~1
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RUN #101

[ m-NO2CgH) HgOCOCH3l, = 2075 X 10™5 moles/1.
[m-FOgH)B(OH) ), = 13.20 X 107> moles/1.
[ CH3CO00H] = 2,840 X 104 moles/1,

log &
[m-NO2CeH) HgOCOCH3] = 3,7010
[m-FCeH) B(OH)p] = 2,8502

[m-NOpCoHy HgCeHym=-F] = L.2534

Solvent = "S50%" EtOH

AN\ = 228mu

t Optical %Oga-x
(min, ) Density X a=x b=x a %E:E%

0 0,242 0 13,20 2,75 0

21 04260 0,230 12,97 2+53 0.,0298

L3 0s275 0,353 12,85 2041 0.047

60 04322 0,738 12,46 2,02 0.110

85 04361 1,06 12,14 1.70 0¢17h
118 0.368 1.12 12,08 1.66 0.182
148 06408 1.l 11.76 1,32 0270
179 041420 1.54 11.66 1,22 0300
209 Oo4ly1 1,72 11.48 1.0k 06563
238 0.6l 1.88 11,32 0.88 0e419

Kobg, = 0629 l.mol=lsec=1
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RUN #102

[m=NO2CgH, HgOCOCH3lo = 2475 X 10=5 moles/1.

[m-FCeHB(0H)2)o = 13.20 X 10~Y moles/l.
[ CH3C00H] = 5,680 X 1074 moles/1.

I

log &

[m=NG2CeH,HgOCOCH3] = 3,7010

[E~F06HhB(OH)2} = 2,8502

(m-N0oCeH) HeCeHm~-F] = 4.253L

Solvent = "50%" EtOH

A= 228mu
1o
B SR 5

0 0¢242 0 13.20 275 0
L2 0,279 0,386 12,81  2.37 0,0528
63 0.31L 06673 12453 2.09 0.,0978
83 0,331 0,813 12,39 1.95 0,123
116 0,348 U.951  12.25 1.81 0.150
158 0.396 1.35 11,85 l.la Oe2lly
180 0,.1;08 lolli = 11,76 1e32 06270

obs,

= 0,553 l.mol=lgec=1
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